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1.What is the theoretical oxygen demand and total organic carbon {(TOC} in mg/L for a 500
mg/L solution of CH;NH, to decompose completely? (C=12, H=1, N=14) {15 points)

2.A wastewater sludge cenirifuge operates with a feed of 40L/min and a feed solids
concentration of 1.2 %. The cake solids concentration is 25% solids, and the cenirate
(dewatered stream) solids concentration is 500 mg/L. What is the recovery of solids? {15
points)

3.Please explain the definition of La geﬁer saturation index (LSI} and its application in

I

Environmental engineering. (15 points)

4.Smokers in a room (Smx5 mx2.5 m) are smoking. If the emission rate of a cigarette is 80
mg/hr of CO and if the ventilation is 0.5 change per hour, what is the level of CO in the
room? (O=16) (15 points)

5.A stack gas contains carbon monoxide {CO) at a concentration of 20 % by volume. What is
the concentration of CO in pg/m>? (assuming 25 °C and 1 atmosphere pressure) (10

points)
6.Please describe the strategies for controlling sulfur oxides. (15 points)

7.A machine shop has two machines, one producing a sound pressure of 70dB and one
producing 57dB. A new machine producing 70dB is brought into the room. What is the

new sound pressure in the room? (13 points)




